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C++ Keywords

Keywords common to the C and C++ programming languages
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auto break case char const
continue default do double else
enum extern float for goto
if int long register return
short signed sizeof static struct
switch typedef union unsigned void
volatile while

C++ only keywords

asm bool catch class const_cast
delete dynamic_cast explicit false friend
inline mutable namespace new operator
private protected public reinterpret cast and
static_cast template this throw true
try typeid typename using virtual
wchar_t and_eq bitand bitor export
not not_eq or or_eq xor_eq
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cout << “Passed”;
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If Student’s grade is greater than or equal to 60
Print “Passed”
Else
Print “Failed”
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if (grade >= 60 )
cout << “Passed”;
else
cout << “Failed”;
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cout << (grade >= 60 ? ”Passed” : ”“Failed” );
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If student’s grade is greater then or equal to 90
Print “A4”
Else
If student’s grade is greater than or equal to 80
Print “B”
Else
If student’s grade is greater than or equal to 70
Print “C”
Else
If student’s grade is greater than or equal to 60
Print “D”
Else
Print “F”
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if (studentGrade>=90) // 90 and above gets "A"
cout << “A”;
else
if (studentGrade>=80) // 80-89 gets "B"
cout << “B”;
else
if (strudentGrade>=70) // 70-79 gets "C"
cout << “C”;
else
if (studentGrade>=60) // 60-69 gets "D"
cout << “D”;
else // less than 60 gets "F"
cout << “F”;
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if (studentGrade>=90) // 90 and above gets "A"
cout << “A”;

else if (studentGrade>=80) // 80-89 gets "B"
cout << “B”;

else if (studentGrade>=70) // 70-79 gets "C"
cout << “C”;

else if (studentGrade>=60) // 60-69 gets "D"
cout << “D”;

else // less than 60 gets "F"
cout << “F”;

el 1555 5 e S 5 Ol gt 35 53 #T 65 Lol i KuSS dslae Ll 53
g o bl el y o b 4 UST Gaas 055 ol 1 aS | o

Sy
by Sz &5 i coliS Jab i Cples (6 par &0 1 s ool il i o 73 571 0MSE o jles &5

,::J,J/CJ[;L Cood ol 51 505 40l J iS5 55 41,8 pifelse O yle sldal 4o b ok
Sy
Ghte) 43 Cal i (T (true) O 15, Ol 45~ lab s oy yifuelse &jle &5 o H

oo pal Sifelse ol in o (ol OIS Clonis 3 ke 15 4703 1. else & L

dangling-else _cio
S eslizal U 15T Ol oSt e 05,8 o i s if oSS L 1y else o CH LLelS aian
e gl £ e dangling-else |Saw ol .S osie ST,
if (x> 5)
if (y>5)
cout << "x and y are > 5";

else
cout << "x is <=5";
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if (x> 5)
if (y >5)
cout << "x and y are > 5";
else
cout << "x is <=5";
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if (x> 5)
{
if (y >5)
cout << "x and y are > 5";
}
else
cout << "x is <=5";
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if (studentGrade>=60)
cout << “Passed.\n”;
else

{
cout << “Failed.\n”;

cout << "You must take this course again.\n"

}
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cout << "You must take this course again.\n";
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While there are more items on my shopping list
Purchase next item and cross it off my list
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while (product <= 100)
product = product * 3;
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Set total to zero
Set grade counter to one
While grade counter is less than or equal to 10
Input the next grade
Add the grade to the total
Add one to the grade counter
Set the class average to the total divided by 10
Print the class average

N Sl s o (81 5T J o slod ey 3 oSlitul b A5 4 pi 1o | Y K

1 // Fig. 4.8: GradeBook.h
2 // Definition of class GradeBook that determines a class average.
3 // Member functions are defined in GradeBook.cpp
4 include <string> // program uses C++ standard string class
5 wusing std::string;
6
7 // GradeBook class definition
8 class GradeBook
9 {
10 public:
11 GradeBook ( string ); // constructor initializes course name
12 void setCourseName( string ); // function to set the course name
13 string getCourseName () ; // function to retrieve the course name
14 void displayMessage(); // display a welcome message
15 void determineClassAverage(); // averages grades entered by the user
16 private:
17 string courseName; // course name for this GradeBook
18 }; // end class GradeBook
GradeBook s i T gty 55 J S0 slod (5593 31 080 iesl b LS (pailon dliows | £-A IS
1 // Fig. 4.9: GradeBook.cpp
2 // Member-function definitions for class GradeBook that solves the
3 // class average program with counter-controlled repetition.
4 include <iostream>
5 wusing std::cout;
6 wusing std::cin;
7 wusing std::endl;
8
9 include "GradeBook.h" // include definition of class GradeBook
10
11 // constructor initializes courseName with string supplied as argument
12 GradeBook: :GradeBook ( string name )
13 {
14 setCourseName( name ); // validate and store courseName
15 } // end GradeBook constructor
16
17 // function to set the course name;
18 // ensures that the course name has at most 25 characters
19 void GradeBook::setCourseName( string name )
20

21 if ( name.length() <= 25 ) // if name has 25 or fewer characters
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courseName = name; // store the course name in the object
else // if name is longer than 25 characters
{ // set courseName to first 25 characters of parameter name
courseName = name.substr( 0, 25 ); // select first 25 characters
cout << "Name \"" << name << "\" exceeds maximum length (25).\n"
<< "Limiting courseName to first 25 characters.\n" << endl;
} // end if...else

} // end function setCourseName

// function to retrieve the course name
string GradeBook: :getCourseName ()

{

return courseName;

} // end function getCourseName

// display a welcome message to the GradeBook user
void GradeBook: :displayMessage ()

{

cout << "Welcome to the grade book for\n" << getCourseName() << "!\n"
<< endl;

} // end function displayMessage

// determine class average based on 10 grades entered by user
void GradeBook: :determineClassAverage ()

{

int total; // sum of grades entered by user

int gradeCounter; // number of the grade to be entered next
int grade; // grade value entered by user

int average; // average of grades

// initialization phase
total = 0; // initialize total
gradeCounter = 1; // initialize loop counter

// processing phase
while ( gradeCounter <= 10 ) // loop 10 times
{
cout << "Enter grade: "; // prompt for input
cin >> grade; // input next grade
total = total + grade; // add grade to total
gradeCounter = gradeCounter + 1; // increment counter by 1
} // end while

// termination phase
average = total / 10; // integer division yields integer result

// display total and average of grades
cout << "\nTotal of all 10 grades is " << total << endl;
cout << "Class average is " << average << endl;

71 } // end function determineClassAverage
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1 // Fig. 4.10: fig04_10.cpp

2 // Create GradeBook object and invoke its determineClassAverage function.
3 include "GradeBook.h" // include definition of class GradeBook

4

5 int main()

6

7 // create GradeBook object myGradeBook and

8 // pass course name to constructor

9 GradeBook myGradeBook( "CS10l1 C++ Programming" );

10

11 myGradeBook .displayMessage () ; // display welcome message

12 myGradeBook.determineClassAverage(); // find average of 10 grades
13 return 0; // indicate successful termination

14 } // end main
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Determine the class average for the quiz.
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Initialize Variables
Input, sum and count the quiz grades
Calculate and print the total of all student grades and the class average
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Initialize variable

S e g5 F S ke 4 Ol

Initialize total to zero
Initialize counter to zero
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Input, sum and count the quiz grades
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Prompt the user to enter the first grade

Input the first grade (possibly the sentinel)

While the user has not yet entered the sentinel
Add this grade to the running total
Add one to the grade counter
Input the next grade (possibly the sentinel)

2 ad Sl
Calculate and print the total of all student grades and the class average
By abg p) p S Shle Do 4 dilS o
If the counter is not equal to zero
Set the average to the total divided by the counter
Print the total of all student grades in the class

Print the average
Else

Print “No grades were entered”
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Initialize total to zero

Initialize counter to zero

Input the first grade (possibly the sentinel)

While the user has not as yet entered the sentinel
Add this grade to the running total
Add one to the grade counter
Input the next grade (possibly the sentinel)
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If the counter is not equal to zero
Set the average to the total divided by the counter
Print the average

Else
Print “No grades were entered”
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// Fig. 4.12: GradeBook.h

// Definition of class GradeBook that determines a class average.
// Member functions are defined in GradeBook.cpp

#include <string> // program uses C++ standard string class
using std::string;

// GradeBook class definition

class GradeBook

{

public:
GradeBook( string ); // constructor initializes course name
void setCourseName( string ); // function to set the course name
string getCourseName(); // function to retrieve the course name
void displayMessage(); // display a welcome message
void determineClassAverage(); // averages grades entered by the user

private:
string courseName; // course name for this GradeBook

}; // end class GradeBook

GradeBook s T gw (b 131 5T J g5~ bl g0 5593 b WIS puilio 4o | £-1Y I
// Fig. 4.13: GradeBook.cpp
// Member-function definitions for class GradeBook that solves the
// class average program with sentinel-controlled repetition.
#include <iostream>
using std::cout;
using std::cin;
using std::endl;
using std::fixed; // ensures that decimal point is displayed

#include <iomanip> // parameterized stream manipulators
using std::setprecision; // sets numeric output precision

// include definition of class GradeBook from GradeBook.h
#include "GradeBook.h"

// constructor initializes courseName with string supplied as argument
GradeBook: :GradeBook ( string name )
{
setCourseName( name ); // validate and store courseName
} // end GradeBook constructor

// function to set the course name;
// ensures that the course name has at most 25 characters
void GradeBook: :setCourseName ( string name )

{

if ( name.length() <= 25 ) // if name has 25 or fewer characters
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courseName = name; // store the course name in the object

else // if name is longer than 25 characters
{ // set courseName to first 25 characters of parameter name

courseName = name.substr( 0, 25 ); // select first 25 characters
cout << "Name \"" << name << "\" exceeds maximum length (25).\n"
<< "Limiting courseName to first 25 characters.\n" << endl;

} // end if...else
} // end function setCourseName

// function to retrieve the course name
string GradeBook: :getCourseName ()

{

return courseName;
} // end function getCourseName

// display a welcome message to the GradeBook user
void GradeBook: :displayMessage ()

{

cout << "Welcome to the grade book for\n" << getCourseName() << "!\n"

<< endl;

} // end function displayMessage

// determine class average based on 10 grades entered by user
void GradeBook: :determineClassAverage ()

{

int total; // sum of grades entered by user

int gradeCounter; // number of grades entered

int grade; // grade value

double average; // number with decimal point for average

// initialization phase
total = 0; // initialize total
gradeCounter = 0; // initialize loop counter

// processing phase

// prompt for input and read grade from user
cout << "Enter grade or -1 to quit: ";

cin >> grade; // input grade or sentinel value

// loop until sentinel value read from user
while ( grade !'= -1 ) // while grade is not -1

{

total = total + grade; // add grade to total
gradeCounter = gradeCounter + 1; // increment counter

// prompt for input and read next grade from user
cout << "Enter grade or -1 to quit: ";
cin >> grade; // input grade or sentinel value

} // end while

// termination phase
if ( gradeCounter != 0 ) // if user entered at least one grade...

{

// calculate average of all grades entered
average = static_cast< double >( total ) / gradeCounter;

// display total and average (with two digits of precision)
cout << "\nTotal of all " << gradeCounter << " grades entered is "
<< total << endl;
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86 cout<< "Class average is" << setprecision( 2 ) << fixed << average
87 << endl;

88 } // end if

89 else // no grades were entered, so output appropriate message

90 cout << "No grades were entered" << endl;

91 } // end function determineClassAverage
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1 // Fig. 4.14: fig04_14.cpp

2 // Create GradeBook object and invoke its determineClassAverage function.
3

4 // include definition of class GradeBook from GradeBook.h

5 #include "GradeBook.h"

6

7 int main()

8

9 // create GradeBook object myGradeBook and

10 // pass course name to constructor

11 GradeBook myGradeBook( "CS101l C++ Programming" ) ;

12

13 myGradeBook .displayMessage () ; // display welcome message

14 myGradeBook.determineClassAverage () ; // find average of 10 grades

15 return 0; // indicate successful termination
16 } // end main

Welcome to the grade book for

CS101 C++ Programming

Enter grade or -1 to quit: 97
Enter grade or -1 to quit: 88
Enter grade or -1 to quit: 72
Enter grade or -1 to quit: -1

Total of all 3 grades entered is 257
Class average is 85.67

oW 5 b e dbml IO Ja-cudle gy b T aSle Aol gle-1E IS
determineClassAverage gas &b (Jlas1,8 9 (£-1V 9 £V Y ICh)GradeBook

a3 ga OISl (5 Kke dloe 41 ¢ 5 ) ol 0kt 9ol doUbIe ¢ 5 5l AVerage jize 55 L o
A3lis i L gradeCounter e 59 Ls 3355 0,53 e 53 (gliel sde &K S g b
DS S =l hg) 5l ask p opl 487 Bl axdls 5k 4 (ol 0 3l (glo pos jgin &S|z 0kl
3505 p&la o Lais gradeCounter e s 305 Ol e sl 85 S ) shie 4 LS e oslicl
o T3 63555 Ol sias yrine 0 03 S O
G Sy —odislad 9 )IC 55— cudl 0 S5 orwlo 99290 SO

anli 53 S5 J S o diled g 4l nl 53 1SS J RS-l e gy Ole 3 e (Sla )l &
JSK& 5157-63 L shast) while & jle J1 S5 b 8 53 1S5 J S -okijlad Bg) 55 .S 4 5 P-4
& sl 4Kl 51 8 GILSS Sl e s 5o s 8 e Silys IS (s Sl iEe oS (P4
e e ol g o 8L s ((FVY IS 51 63-64 byhst) Hlude S5 ey While & jle
Sl while Sjle boa ST 5L s ,s while ol i s)ls sl J 8 0L LT 8 a8



A NE ol
Vol Jad Vg IS By Le ﬁ

3l (slo el @A) Lo dal g |l While O )le aus (Uil o3 8 5yl 28l e lade ,,8) sl
@8 K 8 54 30y e 5 odd Ll Gy s 5l bpb ST K e 1 (oph
6wl a1l S (dm Hldie ldie 5515 5 e (69 L 054 e 0358l tOtAl @) 355 e
75 Ls 5} aasl a5 (73-74 Lshs) 555 s 5,05 )8 Lw g du , While & jle 6 glgs!

O odkd 35l Lt 5lAe (67 L) b s aslsl While &ojle b Ja js (g ol Ul ol iy o0
Sl 31 S aiaen (e llie &5 ST 35 s b 348 || Isdoes While 60 & jle LT &8 S s
SV U8 Kls e el Sl 53 358 00 351y )8 Lo g Aol 355 SL 5, While & yle b5
Sie Bl b Sl (28l ldie liie 0T LT a8 A4S s el Solhe 53l 4 4 pluts] 4y
S gh gadesgpltotal 4 Hlude 5 LU e sl While O Hle (il 28
em 18 L 53 3490 b5 545 0| 217890 bk jsifielse O)le il asls 1w
(89-90 L yhst) €lse jidu il ol 5,05 sloas ST 5 b Sl ok 03,05 (glo o LT &5 A4S o
J S gie @U’ 03,3153 isles s |, "No grades were entered"” play 5ol | | if..else & Le I

oz oo a8 Ol 5 b

23 AT Osle aw bl ST, jsas O LS 85 FAY K While dil- )3 59 50 oS 0L w

. - . ,_~/ .- . . - .
jji)u,}@\)kad\jﬁ\fa&m@wd\,w;@sbW,\C)L,-);ul>-4;.,u

:JSM\;&)JU

// loop until sentinel value read from user

while ( grade !'= -1 )

total = total + grade; // add grade to total
gradeCounter = gradeCounter + 1; // increment counter
// prompt for input and read next grade from user

cout << "Enter grade or -1 to quit: ";
cin >> grade;
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Analyze exam result and decide if tuition should be raised
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Initialize variables

Input the 10 exam grades and count passes and failures
Print a summary of the exam result and decide if tuition should be raised
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Initialize variables
T eSS T

Initialize passes to zero
Initialize failures to zero
Initialize student counter to one
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Input the 10 quiz grades and count passes and failures
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While student counter is less than or equal to 10
Prompt the user to enter the next exam result
Input the next exam result
If the student passed

Add one to passes
Else

Add one to failures
Add one to student counter

al Ul il Cel a8 uS” a5 iflelse as gazs Ole s Jlb bl i eslanul o g0 4
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Print a summary of the exam results and decide if tuition should be raised
Y B ST T
Print the number of passes
Print the number of failures

If more than eight student passed
Print “Raise tuition”
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Initialize passes to zero
Initialize failures to zero
Initialize student to zero
While student counter is less than or equal to ten
Input the next exam result
If the student passed
Add one to passes
Else
Add one to failures
Add one to student counter
Print the number of passes
Print the number of failures
If more than eight students passed
Print “Raise tuition”
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// Fig. 4.16: Analysis.h
// Definition of class Analysis that analyzes examination results.
// Member function is defined in Analysis.cpp

// Analysis class definition
class Analysis
{
public:
void processExamResults(); // process 10 students' examination results
}; // end class Analysis

Analysis 8T gw B8 10903 T 4o qwyp 4ol g | €11 o

// Fig. 4.17: Analysis.cpp

// Member-function definitions for class Analysis that
// analyzes examination results.

#include <iostream>

using std::cout;

using std::cin;

using std::endl;

// include definition of class Analysis from Analysis.h
#include "Analysis.h"

// process the examination results of 10 students
void Analysis: :processExamResults ()
{

// initializing variables in declarations

int passes = 0; // number of passes

int failures = 0; // number of failures

int studentCounter = 1; // student counter

int result; // one exam result (1 = pass, 2 = fail)

// process 10 students using counter-controlled loop
while ( studentCounter <= 10 )
{
// prompt user for input and obtain value from user
cout << "Enter result (1 = pass, 2 = fail): ";
cin >> result; // input result

// if...else nested in while

if ( result == 1) // if result is 1,
passes = passes + 1; // increment passes;
else // else result is not 1, so

failures = failures + 1; // increment failures

// increment studentCounter so loop eventually terminates
studentCounter = studentCounter + 1;
} // end while

// termination phase; display number of passes and failures
cout << "Passed " << passes << "\nFailed " << failures << endl;

// determine whether more than eight students passed
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42 if ( passes > 8 )
43 cout << "Raise tuition " << endl;
44 } // end function processExamResults
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// Fig. 4.18: fig04_18.cpp
// Test program for class Analysis.
#include "Analysis.h" // include definition of class Analysis

int main()

{

Analysis application; // create Analysis object
application.processExamResults(); // call function to process results
return 0; // indicate successful termination

0} // end main
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1 // Fig. 4.21: £fig04_21.cpp
2 // Preincrementing and postincrementing.
3 #include <iostream>
4 wusing std::cout;
5 wusing std::endl;
6
7 int main()
8 {
9 int c;
10
11 // demonstrate postincrement
12 c=5; // assign 5 to ¢
13 cout << ¢ << endl; // print 5
14 cout << c++ << endl; // print 5 then postincrement
15 cout << ¢ << endl; // print 6
16
17 cout << endl; // skip a line
18
19 // demonstrate preincrement
20 c =5; // assign 5 to ¢
21 cout << ¢ << endl; // print 5
22 cout << ++c << endl; // preincrement then print 6
23 cout << c << endl; // print 6
24 return 0; // indicate successful termination
25 } // end main
5
5
6
5
6
6
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passes = passes + 1;

failures = failures + 1;
studentCounter = studentCounter + 1;
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passes += 1;
failures += 1;
student += 1;
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++passes;
++failures;
++studentCounter;
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passes++
failures++;
studentCounter++;
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while (c <= 5)
{
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product *= c;
ct++;

b

cin<< value

(c
if (gender == 1)
cout<<"Woman'"<<endl;
else;
cout<<"Man"<<endl;

3,05 5 5 lasl ax 5 Osle While I S adl> 55 F-)

while( z>= 0)
sum +=z;

ELSIET g
o b I (810 (d oks (o b os asetie (€ il (0 LSS (ol ( JI5 @ F-)
switch (h . sudS” SIS (g . STai (F.J =S (e

f-Y

x=x+1;
x += 1;
++x;

X++;

f-r
z = x++ + y; (a

if (count > 10) (b
cout<<"Count is greater than 10"<<endl;

total -= --x; (c

f-¥

int sum;int x; @
x =1; (o]
sum = 0; (c

sum += xLsum = sum + x; d

cout<<“The sum is:” <<Sum << endl; (e

-0

// Exercise 4.5 Solution: ex04_05.cpp

// Calculate the sum of the integers from 1 to 10.
#include <iostream>

using std::cout;

using std::endl;
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int main()

{
int sum; // stores sum of integers 1 to 10
int x; // counter

x =1; // count from 1
sum = 0; // initialize sum

while ( x <= 10 ) // loop 10 times
{

sum += x; // add x to sum

x++; // increment x
} // end while

cout << "The sum is: " << sum << endl;
return 0; // indicate successful termination
} // end main

// Exercise 4.6 Solution: ex04_06.cpp

// Calculate the value of product and quotient.
#include <iostream>

using std::cout;

using std::endl;

int main()

{
int x = 5;
int product = 5;
int quotient = 5;

// part a
product *= x++; // part a statement
cout << "Value of product after calculation:

6; (@

product = 25, x

quotient = 0, x = 6; (b

" << product << endl;

cout << "Value of x after calculation: " << x << endl << endl;

// part b
x = 5; // reset value of x
quotient /= ++x; // part b statement

cout << "Value of quotient after calculation:

" << quotient << endl;

cout << "Value of x after calculation: " << x << endl << endl;

return 0; // indicate successful termination
} // end main

a) cin >>x;

b) cin >>y;

c)i=1;

d) power =1,

€) power *=x ; or power = power * X ;
f) i+,

g) if (i<=y)

h) count << power << endl;

f-v
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// Exercise 4.8 Solution: ex04_08.cpp
// Raise x to the y power.

#include <iostream>

using std::cout;

using std::cin;

using std::endl;

int main()
{
int x; // base
int y; // exponent
int i; // counts from 1 to y
int power; // used to calculate x raised to power y

i =1; // initialize i to begin counting from 1
power = 1; // initialize power

cout << "Enter base as an integer: "; // prompt for base
cin >> x; // input base

cout << "Enter exponent as an integer: "; // prompt for exponent
cin >> y; // input exponent

// count from 1 to y and multiply power by x each time
while ( i <=y )
{
power *= x;
i++;
} // end while

cout << power << endl; // display result
return 0; // indicate successful termination
} // end main
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a) if (age >= 65);
cout << "Age is greater than or equal to 65" << endl;

else

cout << "Age is less than to 65

b) if ( age >= 65);

cout << "Age is greater than or e

else;

cout << "Age is less than to 65"

c) int x = 1, total;

while ( x <= 10)

total +=x;
x++;

}

d) while ( x <= 100 )

total += x;
x++;

e) while (y > 0)
{

}

cout << y << endl;
y++;

// Exercise 4.12: ex04_12.cpp

// What does this program print?
#include <iostream>

using std::cout;

using std::endl;

int main()

{

int y; // declare y
int x = 1; // initialize x
int total = 0; // initialize total

while ( x <= 10 ) // loop 10 times

{

y = x * x; // perform calculation
cout << y << endl; // output resu
total += y; // add y to total
x++; // increment counter x

} // end while

<< endl;"

qual to 65" << endl;

<< endl";

SuS o Dl 1) Goke 4 5 el F1Y

1t

cout << "Total is " << total << endl; // display result
return 0; // indicate successful termination
} // end main
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AR 25 St Ul e

Enter the miles used(-1 to quit):287
Enter gallons:13

MPG this tankful:22.076923

Total MPG:2.0769923

Enter the miles used(-1 to quit):200
Enter gallons:10

MPG this tankful:20.000000

Total MPG:21.173913

Enter the miles used(-1 to quit):-1
(MPG: Miles Per Gallon)

ol $)leel D 3 s 63.mge I e o5 OSG 6 phe S ST ey g laal  FIF
:M;}?}AﬁjQL&)&HL@:}*AJAL;\J{.»J?UMcMa

Ol oyl -
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ol.e;ﬁl)z‘sf.&.edjbj\c;u)u_ﬂtw—\”

ola pl 53 (ke L g 0 03 585 Sl lael § pame —F
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iler Ll oo wly (g 5 358 Dli “Credit limit exceeded” play U I i oliw

Al 5 Shhle

Enter account number(-1 to end):100
Enter beginning balance:5394.78
Enter total credits:500.00

Enter credit limit:5500.00

New balance is 5894.78

Account:100

Credit limit:5500.00

Balance:5894.78
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Credit Limit Exceeded

Enter account number(-1 to end):200
Enter beginning balance:1000.00
Enter total charges:123.45

Enter credit limit:1500.00

New balance is 802.45

Enter account number(-1 to end):300
Enter beginning balance:500.00
Enter total charges:274.73

Enter total credits:100.00

Enter credit limit:800.00

New balance is 674.73

c‘s‘ou\.\.&}f‘,&-«Lf@@‘bﬁb:?QKM)JSJ_’.E"QMUNL»‘JJ@L:«:JK‘)JJd;&&“.iif—\b
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Enter sales in dollars(-1 to end):5000.00
Salary is:$650.00

Enter sales in dollars(-1 to end):6000.00
Salary is:$740.00

Enter sales in dollars(-1 to end):-1
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Enter hours worked(-1 to end):39
Enter hourly rate of the worker($00.00):10.00
Salary is $390.00

Enter hours worked(-1 to end):40
Enter hourly rate of the worker($00.00):10.00
Salary is $400.00

Enter hours worked(-1 to end):41
Enter hourly rate of the worker($00.00):10.00
Salary is $415.00

Enter hours worked(-1 to end):-1
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1 10 100 1000
2 20 200 2000
3 20 300 3000
4 40 400 4000
5 50 500 5000
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// Exercise 4.21: ex04_21.cpp

// What does this program print?
#include <iostream>

using std::cout;

using std::endl;

int main()
{

int count = 1; // initialize count

while ( count <= 10 ) // loop 10 times

{
// output line of text
cout << ( count % 2 ? "kkk*" : Vjgiid444" ) << endl;
count++; // increment count

} // end while

return 0; // indicate successful termination
} // end main
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// Exercise 4.22: ex04_22.cpp

// What does this program print?
#include <iostream>

using std::cout;

using std::endl;

int main()

{
int row = 10; // initialize row
int column; // declare column

while ( row >= 1 ) // loop until row < 1
{

column = 1; // set column to 1 as iteration begins

while ( column <= 10 ) // loop 10 times

{
cout << (row % 2 ? "<" : ">" ); // output
column++; // increment column

} // end inner while

row--; // decrement row
cout << endl; // begin new output line
} // end outer while

return 0; // indicate successful termination
} // end main

X aSales 511 Ly @ X als 53U 1, 5 Shle 51 e a3 5 Danglin-Else S F-Y¥
oy sU 1y Gt aal 5 )5 35 g0 (IS 1L LlalS 48" S a5 S o 1y Sl 9y 511 1
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a)

if (x<10)

if (y>10)

cout << "FFrrxt<<endl;
else

cout <<"'#HHH#" <<endl;
cout <<"$$$$$"" <<endl;

b)
if (x<10)

{
if (y>10)
cout << FFRFE<<andl;

}

else

{
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cout <<"'#HHH" <<endl,;
cout <<"'$$$$$""<<endl;
}

S Bl 3 ws el el 55 oles 4 (s > W5 1z 1) ) S (Dangling-Else JSCen) F-vF

Jg.)jT}?yA;):%bsls‘jdw‘fuénﬁ@.\:.sa:l.al.w‘wlm

if (y == 8)
if (x == 5)

cout << "@Q@QE@Q" << endl;
else

cout << "#####" << endl;
cout << "$8$$$8" << endl;
cout << "&&&&&" << endl;
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cout << "*" ;

cout << ' 'y

cout << endl ;
Kok kkkkdk
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